& T

VIRG - #5001 | Ht02 | S
R : S S A OB  E i & (SIS N AEN
. do — d 180°
A g o=180" — =1 «
 SEEEE— a v
mk:Lz2m+—uy+@y+( )
| O RuitH 2 4a
N - 2L — 7T(d1 + dz) + \/[2.[/ - 7T(d1 + dg)z] - 8(d2 — d1)2
] - 2
¥ ETET
— o lp.
Vi - //
EEmm
——— s » ” .
e v
O | EE‘
MEAE Ehgtsize
wmmmm H SR
B : EHERE | KEHARR ; TIEENBEER , St
T5i% : R ; EENKE
B
SE—
T« fEE RIS
| O kxR ( REEABRA
[»v%:&%t%%mmmm
B2/ NE A _
() VK ENE (b) PRk EMNE
ke
—
~
HEEEN ’ \
Fo
TSRS EEHRR S
452 \ERESHI—iN->Eih
EADEET | SAMEIESEI—ih-> A
EER—RRIATE E D) |, ETiEAEE
F, — Fy=Fy, — F,
HHCE = BT R
EABET L+ F,=2F O
et ST FROREEES | AEERTEANETS R g
EEHSERERN MEDRINE | B AEEERERIF F=F:=F—F
O Ehoir F < Fipaz B, EETE; N, H0TE
P = Fv
P
51 F=—
. = v
RSB
S EARIR BT Rt
. Iﬁ- fa
B  SRETE | SR HERRIAT, , B e ®
2
( f’a
_ (&
Fl — Fec ef,a_l
BAERERN o F 1
BETELAR  BAROoe’ T2 =  Fo_y
fla
F,=2F& -1
. ef o
AEREABNRBNSEZRSHNRA
RIRTH i |
YWD O = —
11 \ o2 (18
HREER
: E ~\\‘ ] ) ‘I T L\ \
2yE  Eh -
0- — % 1
T d d i 2\
o Ob] ) / /
TR . EB— MR E | m " Ov2
© B y— LR RSV 5 Wijii
h— R ST l
d— /N ESR

B M .
Fﬁiﬂﬂﬁgi]- O, —

QAR E

O BHEEMSHTR

qu°

EX : SR ZIERIERS B

IRE : F>Ffma:c

1B

AR  WEFTIERIERERRIA | (BRHERI

& : /Vigehk

EX : HHERM R AW SR SR Z BRITENEE

JRE
Vi> Ve >

GIp:ae)

SN

T T e HIBRERIZ ARSI
F t=-3#E 501t

TR , TR RIS A EE |

BRAMNINE :
i>1(NEER) « TGRSR
i <1 (KEER) : HLeH/Eeak

S

)

Vs

BT

&t

Ll :

IR ARTAY W

— PP B)E
— 41

BB EREE

e=1""  100%

U1

nq o d2
D) N dl(].—é‘)

7 =

TR, JERR. 81

5 WORERE bp

HEER  TEEEENNNTLER d

EARS
VA [ EAEKE  IEKSOT  NFSREEER tEskeE Ly . b
| ¢ =40
=
LBVE(Y. Z. A, B, C. D, E)
RS h 2
sEvas(sPz, SPA. sPB. spc) — = 0.9
by |
F>F = F,
SRR - 4T, SR fmaz = Sec
o1+ 0y + e = Tpae > 0]
V%H‘Ji'l-%]— . (F<PE,
RITEN : T8, NESHIA
I [U]
1 FRIE T B SRR N SR L S
itam=: P, = Ky4P ‘
( TR 2GR | 2. I REREERH IO EERE
mepiE: 0.7(dy + do) < ag < 2(dy + da)
T d2 — d1
ﬁﬂ%ﬁ:lm::%m#—E{dy+dﬁ—F£—Z——l
_ HEVEITHE 3. R KRR ORE ao
RIBLOERREL
\ Lq— Ly
HEHROE: a ~ ag + — 5
dy — d 180°
4 WEIERERA . ;= 180° — ——L x
a TT
( Py = F,.v/1000
J Fee < Fi(1—1/ef'®)
| smsmys |F1=o014 BT
it Lo1 < [o] —0p — 0
1 A
= Py = (o] = s — o) (1~ 2 ) 5
BERE . QFEEFE OB EE8 OREEEKE
6. ERUTEE: [Py = (Py+ APy) KK XS ER
ERRNTREEHNNR/NNINRIEE ; BREBIERY ; TRELERI
HORRER X X:
7. FREwHRE : 2 = =
Po] (Po+AP)K Ky,
21N z<6
500P, [ 2.5
8. itEmiREa . Fy = = ( — 1) + qu?
2V K,
.o
oitEHIH ENEN : Fo = 2zFosm7
| 10.1Ri176%
5 - 2o
il [ I | RS SR
l 8 T
i
e PP T 1 |
VERME |- s ¢ . m
iz N — S’ ’
;?’;23:4 I-.|T150 ; HT200 sEnlisian b } <[5l 1777 T >\ i <4 sl >\ o »’H&[
HW | HE | B LEHg [ PSR (REER) - AL qxf; Z 4 Tfii//
l #4E=t(d>350mm) " /1 3
— KRR «
B t -'|V|Wl€ @__

e

[

HHEBSNRTEIERIHIERE

REATR



